Jméno zkoušeného: ..............................

1.  Na mapě je vyznačen útvar: 
[image: image1.jpg]



A)
Středoafrická republika

B)
JAR

C)
Tanzánie

2.
Vyznačená řeka na mapě je:


[image: image2.jpg]



A)
Kongo

B)
Niger

C)
Zambezi


3.
Na mapě je vyznačen útvar:
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A)
Keňa

B)
Tunisko

C)
Etiopie

4.
Který stát je vyznačen na mapě?
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A)
Egypt

B)
Etiopie

C)
Niger

5.
Na mapě je vyznačen útvar:
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A)
Středozemní moře

B)
Jaderské moře

C)
Rudé moře

6.
Na mapě je vyznačen útvar:
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A)
Sahara

B)
Středoafrická poušť

C)
Poušť Kalahari

7.
Na mapě je vyznačen útvar:
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A)
Viktoriino jezero

B)
Jezero Bajkal

C)
Čadské jezero

8.
Na mapě je vyznačen útvar:
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A)
Rudé moře

B)
Středozemní moře

C)
Černé moře

9.
Na mapě je vyznačen:
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A)
Malta

B)
Madagaskar

C)
Ostrov Sv. Helena

10.
Na mapě je vyznačen útvar:
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A)
Sahara

B)
Poušť Kalahari

C)
Poušť Gobi

Bodové hodnocení: 
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